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0. (a) Find the equivalent resistance between points a and &
in Figure P28.6. (b) A potenual diffterence of 54.0V 1s
applied between points a and b. Calculate the current in

each resistor.
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Figure P28.6
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2. Using only three resistors—2.00 (1, 3.00 (), and 4.00 (—
find 17 resistance values that may be obtained by various

combinations of one or more resistors. Tabulate the com-
binations in order of increasing resistance.
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: '{(“" Determine the current in each branch of the circuit

shown in Figure P28.21.

3.00 Q
5.00 Q
§ 1.00 €2
8.00 € § § 1.00 €2
_I_
T 120V
+ _
- 400V

Figure P28.21 Problems 21, 22, and 23.
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